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SECTION 1 — GLOBAL ISSUES — 40 marks
Attempt TWO questions.

SECTION 2 — APPLICATION OF GEOGRAPHICAL SKILLS — 20 marks
Attempt the question.

You will receive credit for appropriately labelled sketch maps and diagrams.

Write your answers clearly in the answer booklet provided. In the answer booklet you must
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Use blue or black ink.

Before leaving the examination room you must give your answer booklet to the Invigilator;
if you do not, you may lose all the marks for this paper.
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SECTION 1 — GLOBAL ISSUES — 40 marks
Attempt TWO questions.

Question 1: River basin management

(@) When selecting the site for a dam and its associated reservoir:
(i) describe the physical factors that need to be considered and

(i) explain why they are important.

(b) Discuss the adverse socio-economic and environmental consequences of a
named river management project that you have studied.

Question 2: Development and health

Of the 106 countries with ongoing malaria transmission in 2000, 57 achieved reductions
in new malaria cases of at least 75% by 2015. Eighteen countries reduced their malaria
cases by 50-75%.

World Health Organization — World Malaria Report 2015.

For a water-related disease you have studied:
(a) describe, in detail, the strategies used to manage the disease and

(b) comment on the effectiveness of these strategies.

Question 3: Global climate change

The impacts of global warming are likely to be ‘severe and irreversible’, a major report
by the UN has warned.

Newspaper article

(a) Discuss a range of possible impacts of climate change. You should support your
answer with specific examples.

(b) Many strategies have been implemented to both reduce greenhouse gas
emissions and to manage the effects of climate change.

(i) Describe strategies you have studied and

(ii) comment on their effectiveness.
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Question 4: Energy MARKS

Diagram Q4A: World energy consumption 1971 and 2013
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(a) Study Diagram Q4A.
(i) Describe the trends shown in the graph and

(ii) suggest reasons for these changes in energy demand. 10

Diagram Q4B: Norway — source of electrical generation 2012

. Thermal energy 3%

D Hydro power 96%

I:I Wind power 1%

(b) Look at Diagram Q4B.

Discuss the effectiveness of hydroelectric power (HEP), or any other renewable
source of energy you have studied, in meeting energy demands. You may wish to
refer to one or more countries in your answer. 10
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MARKS
SECTION 2 — APPLICATION OF GEOGRAPHICAL SKILLS — 20 marks

Attempt the question.

Question 5

Planning permission has been granted to create 300 new homes to the south of
Highbridge, which is a small town in the district of Sedgemoor. The development
will include a new primary school for 210 pupils, outdoor play facilities and public
spaces. The site will also provide opportunities for new walkways and a cycle
route into Highbridge.

Study the Ordnance Survey map extract of the Highbridge area; Diagram Q5A;
Diagram Q5B; Diagram Q5C; and Diagram Q5D before answering this question.

Referring to evidence from the OS map extract and information from the other
sources:

(a) discuss the suitability of the site, shown on Diagram Q5A, for the proposed
housing development and

(b) suggest any social, economic or environmental impacts this development may
have on the local area. 20
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Population

Diagram Q5C: Population of

Diagram Q5B: Location of Highbridge
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Diagram Q5D: News article from Yeovil

Sedgemoor district Express, October 2015
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[END OF SPECIMEN QUESTION PAPER]
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Marking Instructions

These marking instructions have been provided to show how SQA would mark this
specimen question paper.

The information in this publication may be reproduced to support SQA qualifications only
on a non-commercial basis. If it is reproduced, SQA should be clearly acknowledged as
the source. If it is to be used for any other purpose, written permission must be obtained
from permissions@sqa.org.uk.

Where the publication includes materials from sources other than SQA (ie secondary
copyright), this material should only be reproduced for the purposes of examination or
assessment. If it needs to be reproduced for any other purpose it is the user’s
responsibility to obtain the necessary copyright clearance.
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General marking principles for Higher Geography

Always apply these general principles. Use them in conjunction with the detailed marking
instructions, which identify the key features required in candidates’ responses.

(@) Always use positive marking. This means candidates accumulate marks for the
demonstration of relevant skills, knowledge and understanding; marks are not
deducted for errors or omissions.

(b) If a candidate response does not seem to be covered by either the principles or
detailed marking instructions, and you are uncertain how to assess it, you must seek
guidance from your team leader.

(c) Where the candidate does not comply with the rubric of the paper and answers two
parts in one section, mark both responses and record the better mark.

(d) Marking must be consistent. Never make a hasty judgement on a response based on
length, quality of handwriting or a confused start.

(e) Use the full range of marks available for each question.

(f) The detailed marking instructions are not an exhaustive list. Award marks for other
relevant points.

(g) Award marks only where points relate to the question asked. Where candidates give
points of knowledge without specifying the context, award marks unless it is clear
that they do not refer to the context of the question.

(h) Award marks for knowledge/understanding where points are:
e relevant to the issue in the question
o developed (by providing additional detail, exemplification, reasons or evidence)
e used to respond to the demands of the question (for example evaluate, analyse).

Marking principles for each question type
There is a range of question types in this question paper. For each question type, the
following provides an overview of marking principles, and an example.

Describe questions

Candidates gain marks for making relevant, factual points. These should be key points.
The points do not need to be in any particular order. Candidates may provide a number of
straightforward points or a smaller number of developed points, or a combination of
these. Candidates must provide more than an outline or list to gain marks. They could
refer to, for example, a landscape feature, a landscape formation process, a situation or
facts demonstrating geographical knowledge.

Explain questions
Candidates gain marks for explaining or suggesting reasons for the cause or impact of
something, or for referring to causal connections and relationships. Candidates must do
more than describe to gain marks here.
o  Where the question asks about a landscape feature, candidates should refer to
the processes leading to landscape formation.
e For a source-based question, candidates should make use of these and refer to
them within their answer for full marks.
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Where candidates provide a purely descriptive answer, or one where development is
limited, award no more than half the available marks for the question.

Other questions look for candidates to demonstrate higher-order skills and will use
command words such as analyse, evaluate, to what extent, and discuss.

Analyse questions
Candidates gain marks for identifying parts, the relationship between them, and their
relationships with the whole; and for drawing out and relating implications.

Award an analysis mark where candidates use their knowledge and understanding or a
source to identify relevant components (for example of an idea, theory, argument) and
clearly show at least one of the following:

links between different components

links between component(s) and the whole

links between component(s) and related concepts
similarities and contradictions

consistency and inconsistency

different views or interpretations

possible consequences or implications

the relative importance of components
understanding of underlying order or structure.

Where candidates are asked to analyse they should identify parts of a topic or issue and
refer to the interrelationships between, or impacts of, various factors. For example,
where a question asks for an analysis of the soil-forming properties which lead to the
formation of a gley soil, candidates should refer to how the various soil formatting
properties contributed to its formation.

Evaluate questions

Candidates gain marks for making a judgement of the success, failure, or impact of
something based on criteria. They should give a brief description of the strategy or project
being evaluated, before offering an evidenced conclusion.

Account for questions

Candidates gain marks for giving reasons which are often (but not exclusively) from a
resource, for example: for a change in trade figures; a need for water management; or
differences in development between contrasting developing countries.

Discuss questions

Candidates gain marks for exploring ideas about a project, or the impact of a change.
They should consider different views on an issue or argument. This might not be a
balanced argument, but they should give a range of impacts or ideas within their answer.

To what extent questions

Candidates gain marks for considering the impact of a management strategy or strategies
they have explored. They should give a brief description of the strategy or project being
evaluated, before offering an evidenced conclusion. They do not need to offer an overall
opinion based on a variety of strategies, but should assess each separately.
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Marking instructions for each question

Section 1 — Global issues

Question General marking instructions | Max Specific marking instructions for this question
mark
1. | (@) | (i) |Award 1 mark for each 8 Points may include:
descriptive factor.
and e narrow and deep valleys (1 mark) can be dammed more efficiently and require less

(i)

Award 1 mark for each
explanation.

Award a maximum of
5 marks for descriptive points.

Do not award marks for human
factors. Although there could
be overlap with factors like
cost, this must be clearly linked
to the physical environment.

construction materials, reducing the overall cost of the project (1 mark)

narrow valleys also have a reduced surface area (1 mark) and combined with low
temperatures (1 mark) they reduce water loss from evaporation (1 mark)

if the site has impermeable rock (1 mark) this would reduce water loss from the
reservoir by percolation (1 mark)

a geologically-stable area away from earthquake zones/fault lines (1 mark) will
reduce the risk of damage or failure of the dam (1 mark)

a high drainage density, (1 mark) or high rainfall (1 mark) will ensure that the
reservoir will receive enough water to avoid transfer from adjacent drainage
basins. (1 mark)

Or any other valid point.
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Question General marking instructions | Max Specific marking instructions for this question
mark
(b) Award 1 mark for each 12 | For example the Three Gorges Dam, China.

consequence and award further
marks where the candidate has
developed this.

Candidates must include both
socio-economic and
environmental adverse
consequences. Award a
maximum of 10 marks if only
one is discussed.

Award 2 marks where
candidates give specific named
examples within the case study
area, which develop the
answer.

Award 0 marks where
candidates give positive
consequences.

Award a maximum of

10 marks if the answer does
not clearly relate to a specific
named water management
project.

Socio-economic consequences could include:

the displacement of millions of people from the Yangtze river region (1 mark);
hundreds of towns and villages, such as Yunyang, (1 mark) were evacuated and
later submerged (1 mark)

those forced to relocate were promised compensation for the value of their homes
and land (1 mark) although this did not cover the cost of relocation, and some of
the money was lost through corruption (1 mark)

compensation in some instances has been as little as the equivalent of £5 a month,
(1 mark) and many claim they have received only half the land compensation they
were promised (1 mark)

people have been forced to move to more expensive cities and towns (1 mark)

the displaced people are mainly farmers with little formal education. This makes it
difficult for them to find jobs in the cities and towns (1 mark)

farmers remaining in the region have had to migrate northwards on to steeper
mountain slopes. (1 mark) This increases soil erosion in this area. (1 mark)

Environmental consequences:

construction of the dam has led to an increase in landslides in the area (1 mark) as
a result of erosion caused by the increases and decreases in reservoir water

(1 mark)

there are 300 species of fish in the Yangtze river. The dam has created a barrier in
the river and fish are not able to travel upstream to spawn, so the populations of
the species have decreased (2 marks)

the Chinese River Dolphin (1 mark) is at risk of extinction because the construction
area covers a large part of this animal’s habitat (1 mark)

decreases in freshwater flow have meant that more saltwater is creeping up the
Yangtze, (1 mark) endangering fish populations already threatened by overfishing.
(1 mark)

Or any other valid point.
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Question General marking instructions | Max Specific marking instructions for this question
mark
Candidates may choose to 20 | Measures taken to eradicate the mosquitoes include:

answer parts (a) and (b)
separately or together.

Award a maximum of
15 marks if candidates do not
comment on effectiveness.

Award marks once for each
evaluation point. For example,
candidates can gain marks only
once for referring to cost.

Do not award marks for
reversals.

Award up to 3 marks where
candidates give appropriate
named examples which develop
the answer.

one method used was to spray pesticides/insecticides in an attempt to kill the
Anopheles mosquitoes. (1 mark) For example, DDT is sprayed on walls in homes
(1 mark)

breeding genetically-modified sterile mosquitoes. (1 mark) These mosquitoes are
unable to carry the parasite/mosquitoes give birth to predominantly male offspring
(1 mark)

specially designed mosquito traps mimic animals and humans by emitting a small
amount of carbon dioxide (1 mark) in order to lure the mosquitoes into the trap
where they are killed (1 mark)

BTI bacteria artificially grown in coconuts. (1 mark) The fermented coconuts are
broken open after a few days and thrown into the mosquito larvae-infested ponds.
(1 mark) The larvae eat the bacteria and have their stomach lining destroyed

(1 mark)

putting larvae-eating fish into stagnant ponds or padi fields, (1 mark) such as the
muddy loach (1 mark)

flushing reservoirs every seven days (1 mark) as it takes longer than this period of
time for the larvae to develop into adult mosquitoes (1 mark)

planting eucalyptus trees (1 mark) can help soak up excess moisture and reduce
the amount of stagnant water (1 mark)

covering standing water and water storage cans, (1 mark) for example the Oxfam
bucket, (1 mark) reduces the chances of mosquitoes breeding near to homes or
villages. (1 mark)
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Question

General marking instructions

Max
mark

Specific marking instructions for this question

Measures taken to treat those suffering from malaria include:

medication to kill the parasite/prevent infection (1 mark) such as
quinine/Chloroquine/Lariam/Malarone/Artemisia (1 mark)

trials have produced a vaccine (1) such as RTS,S (1 mark) which has now been
recommended as being safe for use, as prevention is better than cure (1 mark)
education programmes (1 mark) such as the WHO’s ‘Roll Back Malaria’ campaign.
(1 mark) In particular, educating people in the use of insect repellents (1 mark) or
covering the skin at dawn/dusk (1 mark) when mosquitoes are most active, to
reduce the chances of being bitten (1 mark)

the increased use of insecticide-coated mosquito nets at night. (1 mark)

Possible comments on the effectiveness might include:

insecticides to kill the mosquito were effective at first, however the mosquito
became resistant to DDT (1 mark) and alternative insecticides are often too
expensive for developing countries (1 mark)

mosquito traps have been effective on a small scale (1 mark)

the BTI bacteria in coconuts is an environmentally-friendly solution, (1 mark) with
two to three coconuts clearing a typical pond of mosquito larvae for 45 days

(1 mark)

draining stagnant ponds is impossible in tropical climates where it can rain heavily
most days (1 mark)

anti-malarial drugs can have unpleasant side-effects (1 mark) so may prevent
people from completing the whole course, increasing the likelihood of the disease
developing (1 mark)

vaccine trials have shown a 56% drop in malaria in children (1 mark) however this
can give people a false sense of confidence and they stop using bed nets (1 mark)
larvae-eating fish adds extra protein to people’s diets. (1 mark)

Or any other valid point.
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Question General marking instructions | Max Specific marking instructions for this question
mark
(@) Award 1 mark for an impact of 12 | Possible answers might include:

climate change. Award further
marks for development of each
impact.

Award marks for both positive
and negative impacts.

Award 2 marks where
candidates give specific,
appropriate named examples
which further develop the
answer.

sea level rises caused by thermal expansion of the oceans (1 mark) and also by the
melting of glaciers and land-based ice caps (1 mark)

low-lying coastal areas will suffer flooding, (1 mark) for example, Bangladesh

(1 mark) leading to large-scale displacement of people (1 mark) and loss of land
for farming and destruction of property (1 mark)

climate change refugees moving to higher ground or to other countries

(1 mark) from areas such as Tuvalu or the Maldives (1 mark) will exert more
pressure on resources such as housing, water and power supplies in the receiving
area (1 mark)

more extreme and more variable weather such as flooding and droughts,

(1 mark) and more frequent and intense hurricanes due to increased sea
temperatures (1 mark)

globally, an increase in precipitation, particularly in the winter in northern
countries (1 mark)

increase in extent of tropical/vector borne diseases, as warmer areas expand.

(1 mark) Possibly up to 40 million more people in Africa being exposed to risk of
contracting malaria (1 mark)

longer growing seasons in many areas in northern Europe, (1 mark) increasing food
production and range of crops being grown (1 mark)

predicted extinction of at least 10% of land species, (1 mark) and coral reefs suffer
80% bleaching. (1 mark) When water is too warm, corals expel the algae living in
their tissues causing the coral to turn completely white (2 marks)

changes to ocean current circulation may mean the thermohaline circulation starts
to lose impact on north-western Europe, resulting in considerably colder winters
(2 marks)

a more frequent El Nifo/La Nifa (1 mark) leads to changes in the monsoon

(1 mark)

a prolonged dry season can lead to forest fires, (1 mark) for example California

(1 mark)

the North-West Passage (1 mark) will be opened up to ships due to melting sea ice
(1 mark) meaning more efficient trading routes. (1 mark)

Or any other valid point.
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Question General marking instructions | Max Specific marking instructions for this question
mark
(b) | (i) | Award 1 mark for each 8 Points may include:

and

(i)

description of a strategy.

Award 1 mark for each
evaluative point.

Award 1 mark each for further
developed/detailed evaluative
comments.

Award a maximum of
5 marks for descriptive points.

Do not award marks for
reversals.

Award 1 mark where
candidates provide specific
named examples which further
develop the answer.

the Thames Flood Barrier (1 mark) is a series of gates which can be raised across
the river to prevent sea water flooding London. (1 mark) This has successfully
protected London from flooding on numerous occasions. (1 mark) However, a
second barrier may be needed to cope with flooding beyond 2070 (1 mark)
advance warning systems need to be further developed to advise householders of
the potential risks of flooding (1 mark)

the UK has implemented hose-pipe bans to reduce water usage in drought periods
(1 mark) but these are unpopular and difficult to enforce (1 mark)

a desalination plant has been built in London to provide additional fresh water in
drought. (1 mark) This uses 100% renewable energy to operate (1 mark) however
some feel the money should have been invested in reducing water wastage (1 mark)
Scotland is reducing greenhouse emissions by increasing energy production from
renewables (1 mark) which were meeting 50% of the demand by the end of 2015.
(1 mark)

Or any other valid point.
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Question General marking instructions | Max Specific marking instructions for this question
mark
(@) | (i) | Award 1 mark for each 10 | Points may include:

description of a trend.
Award 1 mark for each reason.

Award up to 3 marks for
description points.

the biggest increase in energy demand is taking place in China (1 mark) which
requires lots of energy to construct infrastructure (1 mark)

an increase in population growth in South-East Asia and China (1 mark) leads to
increased demands for electricity for lighting and appliances such as televisions.

(1 mark) Industry in China is based on energy-hungry manufacturing industries

(1 mark)

in a global economy many of the manufactured products are sold to developed
countries, (1 mark) and therefore oil is used to transport these around the world
(1 mark)

Asia’s consumption has risen by around 1000 MTOE. (1 mark) This may be due to a
large increase in passenger air travel (1 mark) which has led to the construction of
a large number of airport terminals and increased aeroplane use, particularly in
South-East Asia (1 mark)

as people in developing countries become more prosperous, (1 mark) car
ownership rates will also increase (1 mark)

the smallest increase is in South America/Africa. (1 mark) This is due to lower
levels of industrialisation (1 mark)

energy consumption in developing countries is still increasing, however it is slowing
down (1 mark) due to attempts to tackle global climate change. (1 mark)

Or any other valid point.
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Question General marking instructions | Max Specific marking instructions for this question
mark
(b) Award 1 mark for each point on 10 | Possible answers for all renewable energy sources might include:

effectiveness.

Candidates must discuss a
renewable source of energy.
Award 0 marks for non-
renewable sources of energy.

Award 2 marks for specific,
appropriate named examples
which further develop the
answer.

o struggle to meet demand of energy at peak times (1 mark) such as early evening
due to rise in use of home appliances for evening meals (1 mark)

e output is variable and depends on the weather conditions. (1 mark) This means
that there are times when more energy is available than is required which might be
difficult to store, (1 mark) whilst at other times turbines may be switched off due
to over-production (1 mark)

e electricity may be lost in transferring from areas of production to areas of higher
demand/population. (1 mark)

For hydroelectric power (HEP) other possible answers could include:

e even countries like Norway have to import electricity from Sweden during drier
months (1 mark)

e run-of-the-river power stations rely on the flowing water of a river (1 mark) and
when the river is in spate potential power production is lost (1 mark)

e conventional HEP stations dam the river to create capacity, however this floods
large areas of land (1 mark) such as Three Gorges (1 mark) which has social
consequences such as displacement of people (1 mark)

e turbines can be easily and cheaply added to water storage reservoirs (1 mark)
allowing power to be generated from pre-existing infrastructure (1 mark)

e pump-storage dams effectively allow power to be stored, (1 mark) for example
Ben Cruachan, (1 mark) as water is pumped to an upper reservoir at times of low
demand. (1 mark) This water can then be released at times of higher demand to
generate energy. (1 mark)

Or any other valid point.
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Section 2 — Application of geographical skills

map, when discussing the
suitability of the site and the
social, economic and
environmental impacts of the
housing development on the
surrounding area.

Award 1 mark for each
description of the site, or
explanation of suitability of the
site.

Award 1 mark for each impact,
and award a further mark
where the candidate develops
this.

Award 1 mark where
candidates refer to the
resource and award a further
mark where the candidate
offers an explanation of its
suitability (beyond the wording
of the resource).

Question General marking instructions | Max Specific marking instructions for this question
mark
5 (@) Candidates should make 20 | Possible advantages of the location:
reference to all sources,
and including the Ordnance Survey o the site is located close to a number of transport links (1 mark) such as the M5 to

the east (1 mark) leading to Weston-super-Mare which will allow for commuting

(1 mark)

the location is less than 1Tkm from the railway station. (1 mark) (322470). (1 mark)
this may appeal to a wide range of home buyers who may not wish to rely on a car
for transport (1 mark)

the site is located on a large expanse of flat land (1 mark) and this, combined with
ease of access, will lower construction costs (1 mark)

the site may also appeal to families as it is within driving distance of leisure
activities (1 mark) such as Exmoor National Park (1 mark)

the site is also close to opportunities for scenic walks (1 mark) such as the River
Parrett Trail (1 mark)

there will be an increase in demand for housing (1 mark) due to the employment
opportunities created by the new power station. (1 mark)

Possible disadvantages of the location:

the site which has been chosen lies less than 10 metres above sea level, (1 mark)
therefore this area may be at risk of flooding in heavy rainfall (1 mark)

the area chosen is a floodplain (1 mark) and this may require expensive flood
defences (1 mark)

the building of this development may also increase the risk of flooding in
surrounding areas (1 mark) as run-off will increase from the development due to
increase in impermeable surfaces (1 mark)

the development lies between a railway line and a main road (1 mark) leading to
possible air and noise pollution (1 mark)

some residents may be concerned about possible safety issues (1 mark) relating to
transport of radioactive material or waste from the nearby power station. (1 mark)
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Question

General marking instructions

Max
mark

Specific marking instructions for this question

Award up to 4 marks for map
evidence which may include
correct and appropriate grid
references and/or place/road
names.

It is possible that some points
referred to as a disadvantage
may be interpreted by other
candidates as a negative
impact. Award marks for each
point only once, where it is
best explained.

Candidates may expand on
impacts in various ways, for
example they may explain
impacts of flooding as social,
economic and environmental.

Impacts may include:

the increase in houses will help relieve pressure on the local housing markets

(1 mark) which may have a shortage as a result of people moving into the area due
to construction of the power station, (1 mark) and because the population in the
area has increased by 18,000 between 1991 and 2011 (1 mark)

residents of Alstone, GR314468, (1 mark) may be unhappy that their quiet rural
way of life may be disturbed by a large new housing development on their doorstep
(1 mark)

construction companies will be attracted to this area (1 mark) creating a number
of skilled jobs boosting the local economy. (1 mark) The increased risk of flooding
may mean a rise in insurance premiums. (1 mark) Increased population may lead to
improved income for local small businesses (1 mark)

the building of this development may bring an increase in traffic and congestion on
roads (1 mark) as the increase in car owners may lead to more noise and air
pollution (1 mark)

new flood defences may have an adverse consequence on nesting birds/aquatic
wildlife in the surrounding area. (1 mark)

Or any other valid point.

[END OF SPECIMEN MARKING INSTRUCTIONS]
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